OKE 4.03 jédlkeen

od 100 | 125 | 160 | 200

k
LA 39 | 56 | 10,0 | 14,6

ed 100 | 125 | 160 | 200 =

A 37 | 59 | 98 | 148 ] O | G5 | 06 | 0F
= [11] 33| 54|92 |14,0 A = tdysin auki
£12]29| 4985 132 T . s
C 13| 25| 44|79 |125 . 1 = kaksi reikarivia sulkemalla
D 4|21 39|72 11,7 % k-kerroin A pienenee talla luvulla
55| - 34 | 66 109 o Reikarivit suljetaan magneettinauhalla
T |6| - | 3059|101
w 7 - = 53 | 9,3

8 : : 46 | 86 Avaaminen:
A = taysin auki
k

ed 100 | 125

A |25/ 36 O a
=5|1| 22| 32 W.xm..m._: etuosa on
552|118 | 27 iinnitetty ruuveilla
S=(3| 14 | 23
DLi4] 11| 18




